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RIT 29— EXDOF AN

B RAREERT T X p— FRARELE
(3 BFfE LA E 4 BFfER) B 1 &&48 28548 3E|&E
BENiE 370 4,033 /[ 404 /=] 807 M/ 1,210 F/[=
BENiE2 423 4,610 F/[E 461 /=] 922 /=] 1,383 A/
ENES 479 5,221 M/[E 523 F/[H] 1,045 /@ | 1,567 /[
BENiE4 533 5,809 A/ 581 A/l 1,162 /B | 1,743 /=
BENES 588 6,409 /=] 641 F/[=] 1,282M/E | 1,923 /[
BERER @R EE EAX pp— FRE&ELE
(4 B LA E 5 BEREIR ) Hfy 1 &&48 2 8&48 3E|&E
ENE 388 4,229 M /[E] 423 F/[E 846 M/ 1,269 H/[E
=2 444 4,839 /A 484 F/[E] 968 M/ 1,452 [/
ENiE3 502 5471 A/E 548 M/[E 1,095 /[ | 1,642 /[
ENiE4 560 6, 104 F/[a] 611 A/[E 1,221 M/[E | 1,832 F/[H
ENiES 617 6, 725 F/[a] 673 M/[E 1,345 1/[E | 2,018 A/
BERE @R EE X pp— FRE&ELE
(5 BFfEILLE 6 BFfEIRGE) | BEGL 1 &5 2 B|g48 3EIRE
EZNiE 1 570 6,213 M/ 622 M/[E 1,243M/[E | 1,864 /[
BENiE2 673 7,335 /= 734 /[ 1,467 M/E | 2,201 M/[=
ZNiE3 171 8,469 M /[=] 847 M/ 1,694 /[ | 2,541 /[
BENiE4 880 9,592 A/ 960 /=] 1,919 M/E | 2,878 M/
ENiES 984 10,725 /@ | 1,073M/@E | 2,145M/E | 3,218 M/[E
BEREIER T EE EAX — MRERELE
(6 BFfE LA E 7 BFfER) Bifs 1 8548 281548 SEIGE
EME 584 6,365 /=] 637 M/[E 1,213M/E | 1,910 A/
22 689 7,510 A/ 751 M/[E 1,502 B/E | 2,253 M/
EM:ES 796 8,676 A/ 868 M/[El 1,736 B/E | 2,603 M/
EZNiE4s 901 9,820 A/ 982 F/[H] 1,964 /@ | 2,946 F/[=




